ALGEBRA I Practice Quiz 2.3

1.
Write an equation for the line that passes through the points (–2, 2) and (2, –8).
2.
Hudson is already 40 miles away from home on his drive back to college.  

He is driving 65 mi/h. Write an equation that models the total distance d
travelled after h hours. Graph the equation.

3.
Graph each equation. 


(a)
y = 2x + 1


(b)
y = -¾x + 2

(c)
y = -5

4.
Write the slope-intercept and point-slope form of the equation for each line. 
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5.

(a)
Make a scatter plot for the data in the table below.






(b)
Draw a trend line on your scatter plot.








(c)
Make 2 comments about the data set.








(d)
Use the TI to write the equation of the line of best fit for the data below. 


	  Speed (mph)
	Stopping distance (ft)

	10
	27

	15
	44

	20
	63

	25
	85


         6.

Use the map to answer the following. Show your work.
a. City contractors would like to build a library on a road that is parallel to Fir Street at the 

    indicated spot.  They will call that street Peach Street.  What is the equation on Peach Street?

b. City contractors would like to build a gym on a road that is perpendicular to Elm Street at the 

    indicated spot.  They will call that street Power Street.  What is the equation on Power Street?


   












(3 points)
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7.
Bella wants to write two equations to model the streets on this map. She can use y = x – 4 to describe Platte Way. Write one absolute value equation to describe Marteen Rd and Smith St. 
(1 point)
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Solve the following systems by graphing.

8.
y = x + 6



y = –2x – 3

        












  (3 points)

9.
y = ⅞x


y – 1 = ⅞(x – 8)  













             (3 points)


10.
-4x + 3y = –12
-2x + 3y = –18












(3 points)

Solve the following systems by substitution.

11.
y = 3x + 7
12.
-5x + y = -5

13.
3x – 6y = 12




y = x – 9

-4x + 2y = 2


2x – 4y = 8


14.
Without graphing or substitution, decide whether the system has one solution, no solution, or infinitely many solutions. Explain.
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15.
A local pizzeria sells a small pizza with one topping for $6 and a small pizza with three toppings for $8.



Write and solve a system by graphing to find the cost for a plain small pizza.  What is the charge for each



topping?  (Let x represent each topping and y the plain pizza.)



(4 points)
16.
TB pg 386 # 7

17.
TB pg 386 # 8

18.
TB pg 386 # 9

19.
TB pg 386 # 10

ANSWERS
1. y + 8 = -5(x – 2)

OR
y – 2 = -5(x + 2)

OR
y = -5x – 3

              2



2


       2

2.
(a)
d = 65h + 40
(b)
‘L’ graph

3.
Graphs

4.
(a)
y = 3x – 1 
(b)
y = -3x + ½  
(c)
y = 4x – 13
(d)
x = -4
      10

5.
(c)
Positive correlation;
as speed increases, the stopping distance increases.


(d)
y = 3.86x – 12.8

6.
(a)
y – 5 = 8(x – 8)
OR
y = 8x – 49
 (b)
y – 6 = -5(x – 1)
  OR
y = -5x + 59
            
            3

      3       3

             9

       9        9

7.
y = |x + 2| - 3 

8.
Graph
(-3,3)

9.
Graph
No solution

10.
Graph
(-3,-8)

11.
(-8,-17)

12.
(2,5)

13.
Infinitely many solutions

14.
One; the slope are different

15.
Graph; (5,1)

16.
40

17.
55

18.
$950 & $550

19.
16 at 20%, 64 at 60%

